
PANDORA MEDIUM ASSEMBLY INSTRUCTIONS
A

B

C

E

D

F

G

H

I

L

M

X4

X4

X1
X8

X2

X1

X4

X4

X4

X4

N
X4

x8

O
X2

P
X2

A1
X1

B1
X1

C1
X1

D1 X1

R
X28

Q
X10

P 1

X1

F1

17

19

25 X 2 mm

M5 x 12 mm

M 12 x 25 mm

M12 

M6 X 12 mm M6 X 12 mm

M10 x 65 mm

M10

13



n
X4

q
X6

PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

c
X1

b
X1

a
X1

X1 X2 X2

X1 X1

X2

d e f

hg

m

P 2

X1

G1

15 X 2 mm M8 X 10 mm

M8

i
X6 M8 X 15 mm

X1

o

l
X1 M8

X2

p



PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

c

b

a

R

R
E

4

M

F

F

N

1 2

3 LOCK ALL BRAKES !

REMOVE THE BAR
BOTH SIDES

M

F

F

N

A1

P 3



PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

E
E

Q
Q

Q
Q

R R R

Q
R

R R

P 4

B1

C1
D1

cba + +

A1

5

6

E

HALF TIGHT !

HALF TIGHT !



PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

D1

C1

F1

G1

P 5

7

1,2,3,4,5,6,7,8,9,10,11,12,
13,14,15,16,17,18,19

FULLY TIGHTEN
THAN FIT DOOR !

1
2

3
4

5

6

7

11

9

10

12

813

14

1516

17

18

19



PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

e
fd

e
f

p

Q

Q

q

q

q

E

F

n

n

i

i

p

P 6

8

E

HANDTIGHT !      ALIGN !      TIGHT!TIGHT !

m

n

g

h

g

l

m



GG

G G

G
E

P 7

10

R
R

P

P

O

O +

D

P

PANDORA MEDIUM ASSEMBLY INSTRUCTIONS
9

11



PANDORA MEDIUM ASSEMBLY INSTRUCTIONS

P 8

12

ENJOY !


